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Circles

Easy

(1) 23C5fcce ” MULTIPLE (‘HOICE One answer only
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The circle above with center O has a circumference of 36 What is the
length of minor arc AC' ?

a. 18
b. 12
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Medium
(1) 88768960 ” SHORT ANSWER H [Case—lnsensitive]

The number of radians in a 720-degree angle can be written as ar
where a is a constant. What is the value of a ?

460° = T vodiang
120° - Y. 180 = 4. 0 red = ?._,1’( od
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(3) 856372ca ” MULTIPLE CHOICE “ [O nnnnnnnnnn ly]

In the xy-plane, a circle with radius 5 has center (—8,6). Which of the
following is an equation of the circle?

a. (x—8)*+ (y+6)?=5
b. (z—8)2+ (y+6)2 = 25
c. (+8)2+(y—6)*=5
d. (z+8)*+ (y—6)*=25

Equakion of the diccle is gen by
(-0Y+(4-b) =1 "
for @ Gecle contered b (aub) of radius ¢



(2) 2266984b ” MULTIPLE CHOICE “ [One answer only]
2% + 20z + y* + 16y = —20

The equation above defines a circle in the xy-plane. What are the
coordinates of the center of the circle?

a. (20.16)
b. (10,8)
c. (—20,—16)
d. (=10, -8)
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then we ol 0 : o Lo
224201 = L A+ {o*- 10"
,_’___,V__,__::"_""
- (x-10)" =0
= (x+10)*- Jo*

2
Alkogother, 4201 +ytedb - (9(,-810)1‘ 14 Y¥® - 3= 2o

3 (1) egres 57 1 20



